A SXAL I
|

H & 0l & AHS B Ml A

Hm: Lol =X =
ol :deory X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SXIAFS 1t 160,329,300 134,148,782 26,180,518
= 117,152,738
[ 4,704,369
Jl 286,773
Al 29,174,984
- 9,010,436
cel =X 58 118,452,113 97,492,822 20,959,291
= 96,433,684
s 2,305,744
Al 15,049,560
- 4,663,125
=40l 12 115,388,255 94,644,351 20,743,904
= 9,186,502
[ 2,305,744
Al 13,209,587
T 3,686,422
7 LoISEXHE 2 21,462 22,000 538
201 er23| 21,462 22,000 538
01 At2teltl 9,702 10,140 N43B
OgE7 LoSSXAMH 29
365,000 * 122 *90f% 3,942
ORo&H|l===2 260,000 * 122 3,120
Os&II=A 2= 110,000« 12& 1,320
OAgorMae] (H =2
110,000& ~12& 1,320
02 S3=gl 11,760 11,860 A100
Oo&IIe3 750,000 x 122 9,000
ool 23 100,000& «12& 1,200
OAEAIE 7 X 1,000,000 *90% 900
OJIet8dt= 660,000 660
colgiiel € ABIES XIZ A 10,153,511 10,153,511 0
= 5,076,756
Al 3,046,053
T 2,030,702
201 er23 | 14,400 14,400 0
= 7,200
Al 4,320
- 2,880
01 AtR2t2lt] 14,400 14,400 0
Colgitel & AlRIES KEAE 2UdE
Bl 14,400,000 14,400
= 7,200
Al 4,320




2A:

Hm: Lol =X =
Belr SMEtE X (EEEE))
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
- 2,880
301 LB F 237,600 237,600 0
= 118,800
Al 71,280
- 47,520
01 AISIBE X 2GS (2 RETME) 237,600 237,600 0
OLolgdXtel & Alglgs XA &=l
s 237,600,000& 237,600
= 118,800
Al 71,280
- 47,520
307 212+01™ 9,901,511 9,901,511 0
= 4,950,756
Al 2,970,453
- 1,980,302
11 AL =SXAMSEES 9,901,511 9,901,511 0
OLoldxtel & AtglEs I A
9,901,511,000& 9,901,511
= 4,950,756
Al 2,970,453
- 1,980,302
LoldTiel & AZES XA (REAI) 30,000 30,000
307 212+01™ 30,000 30,000
11 Al =SXAMEES 30,000 30,000
OaHEZREIAME K& 30,000,000 30,000
AlLIMZEE 2Z K& 355,715 355,715 0
Al 302,873
- 52,842
307 212+01 A 355,715 355,715 0
Al 302,873
- 52,842
10 Al =S XA EBEER2IHIE X 355,715 355,715 0
OAILIV 2" 22| 48,387,000 48,387
Al 48,387
OAILINZ2" ol1d| 306,628,000 306,628
Al 253,786
- 52,842
O=XEQIE 700,000& 700
Al 700
JI=H32 X2 101,233,051 80,762,008 20,471,043
= 91,109,746
Al 9,110,975
- 1,012,330




2A:
X XH -
o e

=aak

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 101,233,051 80,762,008 20,471,043
= 91,109,746
Al 9,110,975
- 1,012,330
01 AR 2H AL S (R NEETHEH 101,233,051 80,762,008 20,471,043
OPJESer=) 101,233,051,000& 101,233,051
= 91,109,746
Al 9,110,975
- 1,012,330
LOISESSAMEIA 3,143,950 2,944,110 199,840
= 2,200,760
Al 471,5%
- 471,59%
307 21201 & 3,143,950 2,944,110 199,840
[ 2,200,760
Al 471,5%
- 471,59
1 AMISXAEEXS 3,143,950 2,944,110 199,840
OLoI¥ESSAHIA 3,143,950,000& 3,143,950
[ 2,200,760
Al 471,59%
- 471,5%
SHEQ ool SSAHTLEAMEIA 211,766 138,207 73,559
[ 104,984
Al 54,291
- 52,491
307 elztol & 211,766 138,207 73,559
= 104,984
Al 54,291
- 52,491
11 AMEISXAEEE 211,766 138,207 73,559
OSAHEQ Yool St A~
211,766,000& 211,766
= 104,984
Al 54,291
- 52,491
Lo =10 HERZS 223,800 223,800 0
Al 223,800
301 2= 223,800 223,800 0
Al 223,800
02 MR 2HHLFS(HAAS, XNLHE) 223,800 223,800 0
OR2& S0 BE=s
50,0003 %4,476< 223,800




2A:

Hm: Lol =X =
ol :deory X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 223,800
SR MEOHY KA 15,000 15,000 0
301 EtE NS 15,000 15,000
02 ANRI2HHHS(HAAS, NLHE) 15,000 15,000
OMaS oAl dH2E8 N
10,0003 x 125« 12& 15,000
LoI=XSH 12,8%6 13,404 A508
OISR SEAH =& 12,176 12,604 N428
201 Ler23| 8,378 8,384 26
01 At2teltl 378 384 YaNG]
O=Aldgd =)l
31,5003 x 122 378
03 &A= 8,000 8,000 0
OEIAH2UEH0ISUH=H KA
8,000,000 8,000
203 HR=H] 3,798 4,220 N2
03 A=A R =AH] 3,798 4,220 N422
OLo=sXSA 2 B2AF AR
800,000 *90% 720
O QIAIZ = 3,420,000 *90% 3,078
SOIAE 243 AIB =X 720 800 280
203 =4l 720 800 280
03 A=A 2= 720 800 A80
OLQIAIE 435 AR =8
800,000 *90% 720
Lol 2=XAE K& 345,910 347,910 22,000
= 156,600
Al 141,010
- 48,300
MASH (=S SRIAIE) 168,000 170,000 22,000
= 161,200
Al 16,800
307 glztol & 168,000 170,000 22,000
= 151,200
Al 16,800
11 AMEISXAIEEXS 168,000 170,000 /2,000
ol 2= XAIE dAbI
168,000,000 168,000
= 151,200
Al 16,800
LRINEBRAANE Y 72,000 72,000 0
Al 72,000
307 gl2to| & 72,000 72,000 0
Al 72,000




2A:

X XH -
o=

el EERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
10 Al SXAIEEHE2EHI2x 72,000 72,000 0
OLQMEQTAIE SAHA SX=¢
72,000,000& 72,000
Al 72,000
Lo RAYEE SsSANREE N 51,610 51,610 0
Al 51,610
307 21201 & 51,610 51,610 0
Al 51,610
10 Al SXAAEEHE2EHI2x 51,610 51,610 0
COIEI|QYRE S2ANRLS N
51,610,000 51,610
Al 51,610
ABISXAIE 2R QI24H|(S4H]) X 48,300 48,300
301 EtE N = 48,300 48,300
0 MSRREENS 48,300 48,300
OMEIZTIAIL BURe FAY|
48,300,000 48,300
HAFMSO (=2 SXIAIL) 6,000 6,000 0
= 5,400
Al 600
307 elztol & 6,000 6,000 0
= 5,400
Al 600
11 AMEISXAEEXS 6,000 6,000 0
OMAEHSOH (I B=TIAIL)
6,000,000& 6,000
= 5,400
Al 600
MIt=QIS XA K& 829,954 829,954 0
Al 660,850
- 169,104
Lol FSSAAME 558,180 558,180 0
Al 390,726
T 167,454
307 glztol & 558,180 568,180 0
Al 390,726
- 167,454
11 AMEISXAIEEXS 558,180 558,180 0
Lol REaMAE Az
568,180,000 568,180
Al 390,726
- 167,454
MIt= IS XA 2,774 27,774 0
Al 270,124




2A:

X XH -
o=

SAIALS Dt
Lol =X

b
MOt QI= XA X

=X|
(]

el = (Sl &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 1,650
201 er23y| 1,650 1,650
01 AtR2t2|HI 1,650 1,650
O XNFSARE 23
1,650,000 1,650
307 212+01& 270,124 270,124 0
Al 270,124
10 AlRISXAIZEHE 22X 270,124 270,124 0
OMIt=I=XAE 23|
270,124,000 270,124
Al 270,124
OIS XAIE K& 1,875,098 1,657,203 217,8%
= 90,582
Al 1,038,113
- 746,403
COIIIEXIAIE K& 102,300 66,984 35,316
201 er2 3| 7,300 6,984 316
01 AtR2telHl 7,300 6,984 316
OZ2Y #I| € JIAAE HEEH
2,500,000 2,500
OozZgE=2g s s M
300,000 23] 600
OE0IZ32E(=7A) HEE XA
1,200,000 1,200
Osd3sad=4d itz 3,000,000 3,000
401 Al HIZ R 0HbI 40,000 40,000
01 AlZ28| 40,000 40,000
OLQ0I=FXIANE S HES
40,000,000 40,000
405 AHaHE = 55,000 20,000 35,000
01 AL =S F=HI 55,000 20,000 35,000
d=2g It € &JIg S 7Y
45,000,000& 45,000
OZzd ditNSE § ¢
10,000,000& 10,000
CelwAEaE X 46,800 39,000 7,800
Al 28,080
- 18,720
307 elztol & 46,800 39,000 7,800
Al 28,080
- 18,720
1 AMEISXAEEXS 46,800 39,000 7,800
Oelua=3dl X2 46,800,000& 46,800
Al 28,080




2A: SXALE
Hm: Lol =X =
oSl LOIGII=XIAIA XIg (cre:xigl)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
| > 18,720
LoI=NS 29 1,189,785 1,105,674 84,111
Al 836,036
- 353,749
307 QIZ2t01 A 1,189,785 1,105,674 84,111
Al 836,036
- 353,749
10 AISIS XA EEHE2FHIE X 1,189,785 1,105,674 84,111
Lol el 1,006,738,000& 1,006,738
Al 707,903
- 293,835
OLol=X2 23| 183,047,000& 183,047
Al 128,133
- 54,914
d2Y 29| 188,568 183,768 4,800
Al 82,080
- 106,488
307 212+01 A 188,568 183,768 4,800
Al 82,080
- 106,488
10 Al =S XA EEER2IHIE X 188,568 183,768 4,800
O3z2Y 22| 136,800,000& 136,800
Al 82,080
- 54,720
OZ2g 298((741) 51,768,000& 51,768
JA2EESS A 17,000 17,000 0
Al 8,500
- 8,500
307 212+01 A 17,000 17,000 0
Al 8,500
- 8,500
11 Al =SXAMEES 17,000 17,000 0
OZzggdst A 17,000,000 17,000
Al 8,500
- 8,500
FHE H2Y /2 3,880 3,880
301 LetENZ 3,880 3,880
02 MBI BEHHS2(HUAS, NLTHEA) 3,880 3,880
OF&8E 32Y 2Z 3,880,000& 3,880
d2Y T2 )22k X 40,252 40,252 0
Al 20,126
- 20,126
307 212+01™ 40,252 40,252 0




FA SAAIS
Hm: Lol =X =
Cel: ZRIII=EXIAlE XIJ (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 20,126
T 20,126
11 AMEISXAEEES 40,252 40,252 0
OAzY T2 22X HIX
40,252,000& 40,252
Al 20,126
- 20,126
tigt=0lal =Xl 23 55,920 53,940 1,980
Al 18,000
- 37,920
201 =3 7,920 5,940 1,980
01 AtR2t2lt] 7,920 5,940 1,980
OUst=ls] HEX3 AIRA Xtz K&
7,920,000 7,920
307 elzto| & 48,000 48,000 0
Al 18,000
- 30,000
02 2B YAIHE A 12,000 12,000 0
Oligt=olsl H=Xg XI&
12,000,000 12,000
03 M EHE2SHIEX 36,000 36,000 0
Olfet=013 A= A3 234l X
24,000,000 24,000
Al 12,000
- 12,000
Oligt=0lsl K21y deFa g2sdl Ad
12,000,000 12,000
Al 6,000
- 6,000
2 dtgdl & e=dl A2 A 181,164 141,180 39,984
= 90,582
Al 45,291
- 45,291
307 @I2t01 & 181,164 141,180 39,984
= 90,582
Al 45,291
- 45,291
1 AMISXAEEXS 181,164 141,180 39,984
OZzdg gt X3 140,600,000 140,600
= 70,300
Al 35,150
- 35,150
OZ2d 4l Xa 25,080,000& 25,080
= 12,540




A SXAL I

Hm: Lol =X =
=2 =IoI=EXIAE X3 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 6,270
T 6.270
OZ=zd &=l N& 15,484,000& 15,484
= 7,742
Al 3,871
- 3.871
AHAXZIMNE 2 5,029 5,525 A496
201 Ler=23 | 5,029 5,525 A496
01 At2teltl 3,889 4,321 N432
Ooget=dgl 3,320,800 *90% 2,989
Ot & E2= MH 1,000,000 *90f% 900
2 S22l 1,140 1,204 A4
Ovsd A EZ 20,0008 * 122 240
OAld =XI2=H| 1,000,000 *90% 900
ANESMIERE &8s T3 44,400 0 44,400
301 EtE N = 44,400 44,400
14 JIEt 2 a3 44,400 44,400
OXHSAXN =& &SH] 44,400,000 44,400
INENEIE=INETS] 1,773,641 1,048,480 725,161
s 1,241,549
Al 266,046
- 266,046
KA MEIASAALS 1,773,641 1,048,480 725,161
[ 1,241,549
Al 266,046
- 266,046
KGAEI A SXAS (K1) 2,500 2,500 0
[ 1,750
Al 375
- 375
201 er2 3| 2,500 2,500 0
= 1,750
Al 375
T 375
01 At2teltl 2,500 2,500 0
OXIFAIZ MHIAE XA 2]
2,500,000& 2,500
= 1,750
Al 375
T 375
KA MEIA SXANS (KIIHEE) 1,544,813 1,028,765 516,048
= 1,081,369
Al 231,722




2A:

M XAMSERSE
=Rl NSARI MBI A AALS (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 231,722
308 AtXIEHMSOIE 1,544,813 1,028,765 516,048
[ 1,081,369
Al 231,722
- 231,722
18 SIS0t HAS A 1,544,813 1,028,765 516,048
ONANLE HISH Al
1,544,813,000& 1,544,813
[ 1,081,369
Al 231,722
- 231,722
HH UISAZAE A 12,042 17,215 N5, 173
[ 8,430
Al 1,806
- 1,806
308 XXM SOIA 12,042 17,215 25,173
= 8,430
Al 1,806
- 1,806
13 SIS0t 34 A AS A 12,042 17,215 A5,173
OFY tSHS XA 12,042,000& 12,042
= 8,430
Al 1,806
- 1,806
LN ESMEIAAIS 214,286 0 214,286
s 150,000
Al 32,143
- 32,143
201 =3 2,500 0 2,500
= 1,750
Al 375
- 375
01 AtR2t2lHl 2,500 0 2,500
OgaEsSAMbIAAY 22|
2,500,000& 2,500
[ 1,780
Al 375
- 375
308 AtXIEHMSOIE 211,786 0 211,786
[ 148,250
Al 31,768
- 31,768
183 S| 2SO &HAEAIE 211,786 0 211,786




A SXAL I

M XAMSERSE
CHl: T ALSI A B AS A A (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OgaSSMEIAAY 211,786,000 211,786
= 148,250
Al 31,768
- 31,768
gofel =X =8 28,026,271 24,710,581 3,315,690
= 16,986,873
Al 8,806,877
- 2,172,521
el =X sd 24,300 63,730 A39,430
ZOHRISXIAIR =& 21,690 21,830 A140
201 Let=23 | 2,780 2,800 A0
01 AtR2te|Hl 2,780 2,800 A0
OIS XAIFA 480
ANHEE S0 WS 200,000 *90% 180
CEHITHS! EEI MA 300,000 300
OFMHAXSEX E AEIH
1,000& 1, 10004 1,100
OHels dSEHNH S5SHI| RAE2+
uf 200,000 *62 1,200
203 =4l 2,160 2,280 A120
03 Al =X H 22| 2,160 2,280 2120
OZHUSXIAI M =& 2,400,000 *90% 2,160
307 lztol & 16,750 16,750
02 LB HAHE L 6,000 6,000
Og=+ ZYEsl X 6,000,000& 6,000
11 AMEISXAIEEXS 10,750 10,750 0
OFoelold dAb 28 X
4,750,000 4,750
odel ssHEd 29 A&
6,000,000 6,000
O MHIA MS 2,610 2,900 2290
201 er23| 2,610 2,900 A290
01 At2tltl 2,610 2,900 Yavicy
OHOMHAAINEAMY, 2SS s S
2,900, 0002 *90% 2,610
el SA S0 7,562,684 7,562,684 0
= 5,062,800
Al 2,384,628
- 115,256
U ESSONI= 824,553 824,553 0
= 577,187
Al 173,156
- 74,210
301 EtE NS 824,553 824,553 0




A SXAL I

. ZOje =X S8
Rl ZoHel =X =0 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 577,187
Al 173,156
- 74,210
01 Al E2E AL S(FRDEXH) 824,553 824,553 0
OFSIVENS] 824,553,000 824,553
= 577,187
Al 173,156
- 74,210
=== (Xtatl) 456,070 456,070 0
= 319,249
Al 95,775
- 41,046
301 EtE NS 456,070 456,070 0
= 319,249
Al 95,775
- 41,046
01 Al EE A ZS(2DEXMR) 456,070 456,070 0
OF =L (Xtat) 456,070,000& 456,070
= 319,249
Al 95,775
T 41,046
JI=EHE= 5,951,948 5,951,948 0
= 4,166,364
Al 1,785,584
301 EtE NS 5,951,948 5,951,948 0
= 4,166,364
Al 1,785,584
01 Al EE AL S(FREXMH) 5,951,948 5,951,948 0
OJI=&H= 5,951,948,000& 5,951,948
= 4,166,364
Al 1,785,584
Z0H MEH 330,113 330,113 0
Al 330,113
301 EtE NS 330,113 330,113 0
Al 330,113
02 A2 A6 (FHAAHS, NSWE) 330,113 330,113 0
O e+ 330, 113,000& 330,113
Al 330,113
ol Nteidg XA 16,599,298 13,214,292 3,385,006
= 10,805,481
Al 3,763,166
- 2,030,651
oIS 12,547,861 9,984,330 2,563,531




2A:

X ZH -
o=

el Hoje!l XM X (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 8,783,503
Al 1,882,179
- 1,882,179
308 AtXIEMSOIE 12,547,861 9,984,330 2,563,531
= 8,783,503
Al 1,882,179
- 1,882,179
183 S| 2SO ZB&HAEAIE 12,547,861 9,984,330 2,563,531
OoZojeresi 12,547,861,000& 12,547,861
= 8,783,503
Al 1,882,179
- 1,882,179
SSEX RS0 348,855 35,480 313,375
= 244,198
Al 104,657
308 AtXIEMSOIE 348,855 35,480 313,375
= 244,198
Al 104,657
13 SV I2S0He 4 A AS A 348,855 35,480 313,375
OEs2xX JHtsSH 348,855,000 348,855
= 244,198
Al 104,657
oI =0 946,000 765,064 180,936
= 473,000
Al 473,000
301 EtE NS 946,000 765,064 180,936
= 473,000
Al 473,000
01 Al EE A S(FRNEXM) 946,000 765,064 180,936
OFofe! et (HEE01)
946,000,000 946,000
= 473,000
Al 473,000
oISt XEH 284,000 234,7% 49,204
= 142,000
Al 142,000
301 EtE NS 284,000 234,79%6 49,204
= 142,000
Al 142,000
01 Al 2E A S(FRDEXMA) 284,000 234,7% 49,204
OFMH=XNL XA 284,000,000 284,000
= 142,000
Al 142,000




2A:

X XH -
o=

Chelr ZOoHe! RgMe X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ORI AIZEA Xl K& 296,000 163,094 142,906

= 148,000
Al 148,000
301 EtE N = 296,000 183,094 142,906
= 148,000
Al 148,000
01 Al EE A S (2 RNEXMA) 296,000 183,094 142,906
OHOHAAIZIN LAt X
296,000,000 296,000
= 148,000
Al 148,000
LT LAZSA EXRLXC] XZ A 466,000 311,446 154,554
= 233,000
Al 233,000
307 elztol & 466,000 311,446 154,554
= 233,000
Al 233,000
05 212t =S 466,000 311,446 154,554
OLYRO LUPSAI BRAX2 XBA
e 466,000,000& 466,000
= 233,000
Al 233,000
ST 2SXH 448,191 448,191 0
Al 448,191
308 AtXIEHMSOIE 448,191 448,191 0
Al 448,191
18 SIS0t oA AS A 448,191 448,191 0
ossdesNA 448,191,000 448,191
Al 448,191
ST KNSR 120,000 138,000 18,000
Al 120,000
307 21201 & 120,000 138,000 18,000
Al 120,000
1 AMEISXAIEEES 120,000 138,000 18,000
OSSEMY HEdsdH X3
120,000,000 120,000
Al 120,000
LETHEMEIA BIRH X 269,644 269,644 0
= 188,751
Al 40,446
T 40,447
308 XXM SOIA 269,644 269,644 0
= 188,751




S =XIART
. ZOje =X S8
2l HOoHe! XtEag X (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 40,446
T 40,447
18 SIS0t & A AS A 269,644 269,644 0
OLLTHEAIA BI2H X2
269,644,000 269,644
= 188,751
Al 40,446
- 40,447
HOZEXE HI*H A& 2,000 2,000 0
= 1,400
Al 600
308 AIXIHHISOIA 2,000 2,000 0
= 1,400
Al 600
18 SIS HAS A 2,000 2,000 0
OAOLLTR BIRH X2
2,000,000 2,000
= 1,400
Al 600
JofelXIgHel SSHEE N2 25,562 25,562 0
Al 25,562
307 212+01™ 25,562 25,562 0
Al 25,562
1 AMEISXAIEEXS 25,562 25,562 0
OFMIXGHe ssHEY NH
25,562,000& 25,562
Al 25,562
HEHIEMEIS XIS 2,000 2,000 0
= 1,400
Al 600
307 @120l & 2,000 2,000 0
= 1,400
Al 600
1 AR SXAIEE X 2,000 2,000 0
Ooig&ofel EatdISXIA
2,000,000 2,000
= 1,400
Al 600
LT R4 AR 480 480 0
= 336
Al 144
308 AtAIEHMSOIE 480 480 0
= 336
Al 144




FA SAAIS
Xz mfl =X SA
2l HOoHe! XtEag X (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
18 SO 2SS 4N AE AR 480 480 0
OLLUHfR BRARIASTIAAY
480,000& 480
= 336
Al 144
22T F=AHESHEIAXE 720,163 720,163 0
= 504,114
Al 108,024
- 108,025
308 AXIHSO0IA 720,163 720,163 0
= 504,114
Al 108,024
- 108,025
18 SIS0t oA AS A 720,163 720,163 0
Ogadiel F=1asAblA N3
720,163,000 720,163
= 504,114
Al 108,024
T 108,025
Had 2EIHSY gus 2SAHIA 122,542 122,542 0
= 85,779
Al 36,763
308 AtAIEHMSOIE 122,542 122,542 0
= 85,779
Al 36,763
13 SI[2SOHe & EAS A 122,542 122,542 0
OFAd LIS BU= SSMHIA
2 122,542,000 122,542
= 85,779
Al 36,763
Ol 2/=Hl X 179,957 179,957 0
= 138,615
Al 39,028
T 2,314
ORI SZ &K 4,500 4,500 0
= 2,250
Al 2,250
301 EtE N = 4,500 4,500 0
= 2,250
Al 2,250
01 Al EE A S (2 RDEXMA) 4,500 4,500 0
OZISEA Y K& 4,500,000 4,500
= 2,250
Al 2,250




2A:

SAIALS Dt

. ZOje =X S8
s ZoHe! 2/=Hl I (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ZoHe el =X 168,890 168,890 0
= 127,112
Al 31,778
308 AXIMSOIA 158,890 168,890 0
= 127,112
Al 31,778
183 S| 2SS ZB XA AIE 158,890 158,890 0
OFoHelel=zHl XI& 158,890,000 158,890
= 127,112
Al 31,778
ZOHQ HEFEXIIF KJAAS 11,567 11,567 0
= 9,253
T 2,314
301 LEtE NS 11,567 11,567 0
= 9,253
- 2,314
01 Al EE A S (2 DEXMA) 11,567 11,567 0
OZO0NQ THEEXRI|F KJAAY
11,567,0002 11,567
= 9,253
- 2,314
H2AY0HotS ASEHI2 ==X3 5,000 5,000 0
Al 5,000
301 EetE2 NS 5,000 5,000 0
Al 5,000
02 MBI SEHBS(FHAANS, XLTHE) 5,000 5,000 0
OFLHMOts S0l ==XI&
5,000,000& 5,000
Al 5,000
el =SXAIE X2 3,660,032 3,689,918 N29,886
= 979,977
Al 2,680,055
ASH(ZHLAIZ) 115,000 130,000 ~15,000
= 103,500
Al 11,500
307 gl2to| & 115,000 130,000 15,000
= 103,500
Al 11,500
11 ARRIS XA E X 115,000 130,000 A15,000
OUASH(HAAIE) 115,000,000 115,000
= 103,500
Al 11,500
ANE2S e L& 2tsH S 2,000 2,000 0




2A:

SAIALS Dt

mo: Fojel =X S
Rl ZoHe! SXAE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 2,000
307 gl2tol & 2,000 2,000 0
Al 2,000
11 AMEISXAEEES 2,000 2,000 0
OAIEES Y L3 258 S
2,000,000 2,000
Al 2,000
ZOHAXSTHEAL 2 342,267 342,267 0
Al 342,267
307 21201 & 342,267 342,267 0
Al 342,267
N EEEEEES 342,267 342,267 0
OFOQ! HATHEAL 2
342,267,000 342,267
Al 342,267
OIS IHEAE 2 349,539 349,539 0
Al 349,539
307 212+01& 349,539 349,539 0
Al 349,539
10 Al SXAZEE 22X 349,539 349,539 0
OZ Rl SISTHEAIE 22
349,539,000 349,539
Al 349,539
R FUESAIE 2 444,938 444,938 0
Al 444,938
307 glztol & 444,938 444,938 0
Al 444,938
10 Al SXAEEE 22X 444,938 444,938 0
OO =AUESAIE 29
444,938,000 444,938
Al 444,938
el EAI L 23| 1,252,110 1,230,996 21,114
= 876,477
Al 375,633
307 212+01& 1,252,110 1,230,996 21,114
= 876,477
Al 375,633
10 Al SXAEEHE 22X 1,252,110 1,230,996 21,114
OBRIMEAIL 2|
1,252,110,000& 1,252,110
= 876,477
Al 375,633
HoMEANE2SH|(S+22+E) 33,600 33,600 0
Al 33,600




2A:

X XH -
o=

SAIALS Dt
el =X s8

Rl ZoHe! SXAE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 33,600 33,600 0
Al 33,600
11 ARRIS XA E X 33,600 33,600 0
OZMHALEANESALL S+22E
33,600,000 33,600
Al 33,600
ANEHF=Z0HR! 28l S =It A& 864 864 0
Al 864
307 el2to| & 864 864 0
Al 864
11 AMEISXAEEES 864 864 0
OAIEH0H 2&Hl S =It X2
864,000 864
Al 864
Al Zoje MEs 22 12,000 12,000 0
Al 12,000
307 @120l & 12,000 12,000 0
Al 12,000
11 AMEISXAEEXS 12,000 12,000 0
OAEE HEE 29
12,000,000 12,000
Al 12,000
ZATHE THOHEOHR! S| 17,388 17,388 0
Al 17,388
307 21201 & 17,388 17,388 0
Al 17,388
1 AMEISXAEEXS 17,388 17,388 0
OZXHTHE THOHEOHR! SAlH|
17,388,000 17,388
Al 17,388
gojel=sx2 249 1,025,226 1,025,226 0
Al 1,025,226
307 212+01& 1,025,226 1,025,226 0
Al 1,025,226
10 AlRISXAZEHE 22X 1,025,226 1,025,226 0
OFeI=X2 23| 1,025,226,000& 1,025,226
Al 1,025,226
FofelsA2 == 24| 23,100 23,100 0
Al 23,100
307 glztol & 23,100 23,100 0
Al 23,100
11 AMISXAIEEX 23,100 23,100 0
OZI=X2 S5 23|
23,100,000 23,100




2A:
X XH -
o e

=aak

SAIALS Dt
el =X s8
el SXAIE X

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 23,100
Ad EAZ0 ANEHES 42,000 42,000 0
Al 42,000
301 EtE N = 42,000 42,000 0
Al 42,000
02 MBI 2HHSFHS(HAANS, XLHE) 42,000 42,000 0
OAIE SlANOf HRRES
42,000,000 42,000
Al 42,000
ols =X 88 11,077,501 9,949,316 1,128,185
= 3,680,913
= 1,014,804
) 73,720
Al 4,773,234
- 1,534,830
FAHE Ol B2 11,077,501 9,949,316 1,128,185
= 3,680,913
= 1,014,804
Jl 73,720
Al 4,773,234
T 1,534,830
HHS0(OtSAIE) 198,000 190,000 8,000
= 178,200
Al 19,800
307 el2to| & 198,000 190,000 8,000
= 178,200
Al 19,800
11 AMISXAIEEXE 198,000 190,000 8,000
OMASH(OtSAIE) 198,000,000& 198,000
= 178,200
Al 19,800
Ols2=sAE 24X 1,981,695 1,745,244 236,451
Al 1,981,695
307 @I2to1 & 1,981,695 1,745,244 236,451
Al 1,981,695
10 Al SXAAIEEHE 22X 1,981,695 1,745,244 236,451
OO0lsAIE 24 (212])
1,872,302,000& 1,872,302
Al 1,872,302
OOtSAIE 2E(SXEAUE)
3,500,000 3,500
Al 3,500
OOtSAIE 2E(AE2aHI)
8,836,000& 8,836




S =TIART
33: Ot =4 &4
&t FUAS Ol B (Sl &
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 8,836
OOIENS 2¢(0S S 2%
95,457,000 95,457
Al 95,457
OOIEAIE SH(AL0IE HAKIR)
1,600,000& 1,600
Al 1,600
OlSYSAIE S 2Es4 N2 42,573 42,573 0
Al 42,573
307 elztol & 42,573 42,573 0
Al 42,573
11 AMRISXAEES 42,573 42,573 0
OOISA=SAIE ES0tS ATEFEAY
42,573,000 42,573
Al 42,573
OlSEEAIE S & - 2Fiddl X 2,000 2,000 0
Al 2,000
307 elzto| & 2,000 2,000 0
Al 2,000
10 AlRISTIAIEEE 22X 2,000 2,000 0
OOISLSAIL oHE B2l - B2 N
2,000,000& 2,000
Al 2,000
SSHEINE(O58) 2SN 74,050 97,793 N23,743
Jl 29,620
Al 44,430
307 elztol & 74,050 97,793 N23,743
Jl 29,620
Al 44,430
10 Al SXAAEEHE 22X 74,050 97,793 N23,743
O0Es 2 AA(21AHl)
66,498,000 66,498
Il 26,599
Al 39,899
O0E& 2 XA (2HI)
7,552,000 7,552
Il 3,021
Al 4,531
SSHEINE SAA M8l X2 18,240 18,240
Al 18,240
307 elztol & 18,240 18,240
Al 18,240
10 AlISXAZEE 22X 18,240 18,240




S =TIART
33: Ot =4 &4
=Rl FHYAS Ols 23 (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OOEE(0tSAIE) SAX MM X
18,240,000& 18,240
Al 18,240
SSUEINE SML SXZRLE 200 200 0
Al 200
307 @12t0| & 200 200 0
Al 200
10 Al SXAAEEHE 22X 200 200 0
OSSUEIIE SAHA SARE
200,000 200
Al 200
SSUEINE SAA AZAZ225E 956 956 0
Al 956
307 212+01& 956 956 0
Al 956
10 Al SXAAEEHE 22X 956 956 0
OSSHEINE BSAL ALI2RE
956,000& 956
Al 956
SSHEEINE 230t5 K& 16,320 16,320 0
Al 16,320
307 lztol & 16,320 15,320 0
Al 15,320
11 ARRIS XA E X 16,320 15,320 0
O=sdaity 250ts XA
15,320,000 16,320
Al 16,320
SSdEOHE ordaeldl XIE 900 900 0
Al 900
307 elztol & 900 900 0
Al 900
10 Al2ISTIAEEE 22X 900 900 0
Ossdaty ™22t N3
900,000 900
Al 900
=254 S5 Al NE 34,350 34,420 AT0
201 2= 4,350 4,420 AT0
01 At2t2lt] 4,350 4,420 AT0
O==AE 82 S 700,000 *90% 630
Otighss4dH 3|
3,720,000& 3,720
307 @20l & 30,000 30,000
10 AlISXAIZEHE 22X 30,000 30,000




£A: EXIM ni;
B Ols =X &4
cisl: FHoOHS OIS 25 (cie) 29
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OtrgtNEsde 2gd] XA
30,000,000& 30,000
CIet=sdE 21248 XA 293,088 244,016 49,072
s 146,544
Al 73,272
- 73,272
307 212+01 A 293,088 244,016 49,072
s 146,544
Al 73,272
- 73,272
10 Al ZXAIEHE 2FHIEx 293,088 244,016 49,072
OUENSSHEH SALL 124H] XA
293,083,000& 293,088
= 146,544
Al 73,272
- 73,272
CletNEsdle 224l X2 48,000 40,000 8,000
= 24,000
Al 12,000
- 12,000
307 2I2+01A 48,000 40,000 8,000
s 24,000
Al 12,000
- 12,000
10 Al = XAEHE2FHIE X 48,000 40,000 8,000
otietNEs4dy 2gHl X
48,000,000& 48,000
s 24,000
Al 12,000
- 12,000
Crat NS SHIE olHd] X1 (AIBIXIE) 49,000 49,000 0
Al 24,800
- 24,200
307 212+01 A 49,000 49,000 0
Al 24,800
- 24,200
10 Al SXAIEHE2ZHIEX 49,000 49,000 0
OUENSSHEH SALAL SXEZIE
600,000& 600
Al 600
OUetHEsHE SALL MR =5
45,120,000 45,120
Al 22,560
- 22,560




A SXAL I
= ots =X 88

(=}
Rl FYAS Ot 2=

RN - I BRA(E) - HRA - BES of v A
OUSHESHE SAHL AlZtel=g
3,280,000 3,280
Al 1,640
- 1,640
Oel0l=0I1e XI& 1,000 1,000
401 Al HIZ S 0HHI 1,000 1,000
01 AIZHI 1,000 1,000
O0glol=0Ie 2= 1,000,000 1,000
UAHIE XI2AHY 2,700 2,700
Jl 1,890
Al 810
301 LEtE NS 2,700 2,700
J| 1,890
Al 810
01 Al EE A S (2 RDEXMR) 2,700 2,700
2AHIE NZAE 2,700,000& 2,700
Il 1,890
Al 810
2AOls dFEE 57,600 57,600
Il 40,320
Al 17,280
301 LENZ 57,600 57,600
Il 40,320
Al 17,280
01 A2 HSFS(RNEERTHE) 57,600 57,600
A0S =g 57,600,000 57,600
Il 40,320
Al 17,280
g=ei2t 2R S 700 0
Jl 490
Al 210
301 2 E = 700 0
| 490
Al 210
01 Al EHAGZ(2DEZME) 700 0
o=t 2RHAAS 700,000& 700
J| 490
Al 210
YA=ol=s 2,000 2,000
Il 1,400
Al 600
301 2N = 2,000 2,000
Il 1,400




S =TIART
33: Ot =4 &4
=Rl FHYAS Ols 23 (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 600
01 Al EE A S (2 RDEEMA) 2,000 2,000 0
ogg=odls 2,000,000 2,000
Il 1,400
Al 600
2 - I /E0ts delxlizdl X 3,090 3,090 0
= 2,163
Al 927
301 EtE NS 3,090 3,090 0
= 2,163
Al 927
01 Al EE A S (2 DEXMR) 3,090 3,090 0
2 IIERAE0IS dedXlgl A&
3,090,000 3,090
= 2,163
Al 927
IHEAE0E &= K& 70,400 71,000 2600
Al 49,280
T 21,120
301 EtE NS 70,400 71,000 2600
Al 49,280
- 21,120
02 A2 XSG (FHAAHS, NLWE) 70,400 71,000 2600
OJIESIE0ts 5223 A&
68,400,000 68,400
Al 47,880
- 20,520
OJtg9IE0ts =378l A&
2,000,000& 2,000
Al 1,400
T 600
FJAEXNSO0S NEXE At 9,650 9,3%0 300
= 6,755
Al 2,8%
301 EetE2 N = 9,650 9,350 300
= 6.755
Al 2,89
01 Al 2E AL S(FREXME) 9,650 9,350 300
OZAEXSOtS KNSRI
9,650,000 9,650
= 6,755
Al 2,89%
HERIEOtE & HesSs XE 9,000 30,000 £21,000
Al 9,000
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FA SAAIS
33: Ot =4 &4
=Rl FHYAS Ols 23 (St
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OOISSttHEA Ol &= KX
1,260,000 1,260
203 2=l 720 800 N80
03 A=A PR FA| 720 800 N80
Oty & 2Esgydat
800, 000 *90% 720
307 212+01& 1,000 1,000
012z & 3=l 1,000 1,000
Ostiiuloiots 2l=4l 1,000,000 1,000
Ols2stEAl &4 29,020 10,800 18,220
201 Ler23| 7,020 10,800 A3,780
01 At2teltl 7,020 7,800 AT780
Oltsdel s s 2,800, 0002 *90% 2,520
OOtS2EAY 82 & S2E3 A
3,000,000 *90% 2,700
OO0tssAE Tt2d S M
2,000,000 *90% 1,800
207 ARl 22,000 22,000
01 H1E4H| 22,000 22,000
OOISEstzAl Zd e A1EY
22,000,000 * 14 22,000
OISEsdER3 AY 29 10,000 15,000 /5,000
[ 8,000
Al 1,000
- 1,000
201 fer23| 3,500 6,000 22,500
[ 2,800
Al 350
T 350
01 At2teltl 3,500 6,000 2,500
OltsE= J12 23] 3,500,000& 3,500
= 2,800
Al 350
- 350
301 LEtE NS 6,500 9,000 22,500
= 5,200
Al 650
- 650
01 AR 2EHSHS(RRNEETHE 6,500 9,000 22,500
OltsEs MHIA 23| 6,500,000 6,500
s 5,200
Al 650
- 650
OISESHERRA(SRE) 22 3,520 3,420 100




SA BB SL(BH) - NSAY - B 0l o A
201 Let2AY| 160 60
01 A22teld| 160 60
OUISESHEQA(SRA) IIsH(M=E=
x2) 100,00024%1% 100
OOlSEEHLRA(TLA) HSHE &0t
]l 30,000&*1H 30
OOISESHERA(SRE) 0t=3| XA
30,000&*1H 30
202 0441 3,360 3,360
01 ZLHOHI 3,360 3,360
OUISESHEQA(SRA) 2UEEHY
20,0003 *14L x12& 3,360
010ts d=0ts25H| XA 12,000 12,000
= 8,400
Al 3,600
301 EtEXZ 12,000 12,000
= 8,400
Al 3,600
01 AISIBEX LGS (2 REXZE) 12,000 12,000
OdEZOoIsE S| 12,000,000 12,000
= 8,400
Al 3,600
AAUNAMOIS ESH| 12,000 12,000
= 8,400
Al 3,600
301 LEtENZ 12,000 12,000
= 8,400
Al 3,600
01 Al EEE S (2DEEEA) 12,000 12,000
Ogigijalols B3| 12,000,000 12,000
= 8,400
Al 3,600
ASotsHH 298| K& 173,592 173,592
Fay 86,796
Al 43,398
- 43,398
307 QIZ2t0I A 173,592 173,592
s 86,796
Al 43,398
- 43,398
10 AISISXIAEEE2IHIE X 173,592 173,592
OXotsHE Fo12gd|] X2 (Cdy 2
o B10l) 11,400,000 11,400
g 5,700




2A:
T ZH -
o e

=aak

SAIALS Dt
ot =X 38

=)

FHAHS Ols ES

SA - B GR(31) - HIRAY - BES il &k e HlmS2
Al 2,850
- 2,850
OXI&0otsHE Jl22gd] XI&
162,192,000 162,192
= 81,0%6
Al 40,548
- 40,548
XS0otsHlE el X 1,044,600 670,320 374,280
s 522,300
Al 261,150
- 261,150
307 QI2H0| A 1,044,600 670,320 374,280
= 522,300
Al 261,150
- 261,150
10 Al ZXAIEHE 2FHIEx 1,044,600 670,320 374,280
OXIS0otsHlE 1248 XI&
1,044,600,000& 1,044,600
= 522,300
Al 261,150
- 261,150
XSOotsHE 224l XA (AIBIXIE) 15,014 15,014 0
Al 8,507
- 6,507
307 QI2Hol A 15,014 15,014 0
Al 8,507
- 6,507
10 AlZISEXAEHE2EHIEX 15,014 15,014 0
Od - Lhatg] X2 3,450,0002 3,450
Al 1,725
- 1,725
OSAMA SXEIE K& 2,000,000& 2,000
Al 2,000
OSALRE AlIZtel=& K& 9,564,000& 9,564
Al 4,782
- 4,782
SE+SHE XA0tSHE =IO 36,000 36,560 ABB0
= 18,000
Al 9,000
- 9,000
307 2I2+0l ™ 36,000 36,560 AB60
s 18,000
Al 9,000




SAM: SXAE B
ZH: 0l =1 58
&R FHUHS Ols B3 )
SN - B S(BH) - HBAY - BAS 0 &y e HIRS2
- 9,000
10 AFSISXIAIEEE2GHIEX 36,000 36,560 560
OS4+2HE XA0SHE X2
36,000,000& 36,000
= 18,000
Al 9,000
- 9,000
EQEH XY0tsHH =IO 18,000 14,520 3,480
= 9,000
Al 4,500
- 4,500
307 CI2tOI A 18,000 14,520 3,480
Fay 9,000
Al 4,500
- 4,500
10 Al SXAEEE2IHIEX 18,000 14,520 3,480
OER2Z XN90tsdEH XA
18,000,000& 18,000
Fay 9,000
Al 4,500
- 4,500
HuEss XNEotsHE XA 7,800 7,800
Al 3,900
- 3,900
307 CIZ2tOI A 7,800 7,800
Al 3,900
- 3,900
10 AFSISXIAIEEE2IGHIE X 7,800 7,800
ONUES NAOSHE X2
7,800,000& 7,800
Al 3,900
- 3,900
XSG 0otsHlE 23Nl K& 10,000 10,000
Fay 5,000
Al 2,500
- 2,500
307 2I2t01 ™ 10,000 10,000
s 5,000
Al 2,500
- 2,500
11 AISISEXAIEE X 10,000 10,000
OX = 0tsHE SFEdl K&
10,000,000 10,000
g 5,000




2A:

X XH -
o=

SAIALS Dt
ot =X 38

=)

ool FHORNS Ot 25 (ol m2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 2,500
- 2,500
NS0otsHEH T2 )2 XI& 21,960 21,960 0
Al 10,980
- 10,980
307 212+01™ 21,960 21,960 0
Al 10,980
- 10,980
10 Al = XA EHE2FHIE X 21,960 21,960 0
OXIS0tsHlye T2 )8H| X
21,960,000 21,960
Al 10,980
- 10,980
XSE0tsHlE ots =X & 5,000 5,000
307 212+01 A 5,000 5,000
02 QIZtBAAIE E R 5,000 5,000
OX<S0t=sHE HetAL XA
5,000,000& 5,000
OtsSAIAF XI& 160,526 153,367 7,159
= 77,068
Al 38,534
- 44,924
101 2124 d| 160,526 153,367 7,159
= 77,068
Al 38,534
- 44,924
M IIRINZ2Z2XsSEs 160,526 153,367 7,159
OO0ts= X AF X1 (I12HA)
132,178,728& 132,179
= 66,090
Al 33,045
- 33,044
O=KXEQE 300,000& *7F*13] 2,100
OgEsy 300,000& *7Z *23] 4,200
O4UEE J2ed=a ¥ E8NE3
21,956,760 21,957
ax 10,978
Al 5,489
- 5,490
OALBEHI(SAIZE)
30,0002 *x3H*12] 0
OlSSXIWAHSRE) 2el 1,800 1,800
201 L2 | 60 60
01 AtR2telt] 60 60




SEAk EIIM s
33: Ot =4 &4
=aak "|°*34| Oots 25 (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OOtS=XWAHSRA) MSUE SIH
30,0002 0
OOSEXDAHBRE) 0kR3| XIRH|
30,0002 %1 30
202 04| 1,740 1,740
01 =LHOLI 1,740 1,740
OOLS=XWAHSRA) S0 1,740
- HUHEH0HI 120,000&x1& =123 1,440
22AEH 0] 300,000& 1 300
NSOISHE SAEL M08l X2 199,500 199,500 0
Al 99,750
- 99,750
307 21201 & 199,500 199,500 0
Al 99,750
- 99,750
10 AlRIS XA EEE2SHIEX 199,500 199,500 0
OXISH0tSHIE SARE XKl X2 (Al
a1p) 199,500,000 199,500
Al 99,750
- 99,750
XISOtSHE AR HR2M4&8] X2 (XEH) 12,000 12,000 0
307 @20l & 12,000 12,000
10 MEISXAIEHE2EHIE2X 12,000 12,000
OXSHOtsHE SAME MMl FIHKIE
(XEAI) 12,000,000& 12,000
otsee XA 706,048 297,143 408,905
= 494,234
Al 211,814
301 EtE NS 706,048 297,143 408,905
= 494,234
Al 211,814
01 Al EE A S (2 DEXMA) 706,048 297,143 408,905
OOtSZE X2 AH % 706,048,000 706,048
= 494,234
Al 211,814
ors=¢ Xes 3,626,452 3,650,000 N\23,548
= 2,901,161
Al 507,704
- 217,587
301 eEetE2 N = 3,626,452 3,650,000 N23,548
= 2,901,161
Al 507,704
- 217,587
01 Al EE A S (2 DEXR) 3,626,452 3,650,000 N23,548




S =TIART
33: Ot =4 &4
ool FHORNS Ot 25 (ol m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oots=¢g XNa 3,626,452,000& 3,626,452
= 2,901,161
Al 507,704
- 217,587
gy - gets OtssAlXE 1,429,890 1,124,845 305,045
Al 857,934
- 571,956
307 elztol & 1,429,890 1,124,845 305,045
Al 857,934
- 571,956
1 AMISXAIEEXS 1,429,890 1,124,845 305,045
OBd - &= Olss4NE
1,429,890,000& 1,429,890
Al 857,934
- 571,956
E-32572 Ots=34K& 258,917 292,063 A33,146
Al 258,917
307 @I2t01 & 258,917 292,063 A33,146
Al 258,917
11 AMEISXAIEEES 258,917 292,063 A\33,146
OF - B5Y OISSTANR
258,917,000& 258,917
Al 258,917
CEARE 29 XZ 141,500 169,940 18,440
= 113,200
Al 8,491
- 19,809
101 @124H| 29,460 44,115 14,655
s 23,568
Al 1,768
- 4,124
M ORNZZ2NSE S 29,460 44,115 14,655
OOtSSE A2 CIAHFOFF 2 THA) 124d]
29,460,000 29,460
s 23,568
Al 1,768
- 4,124
201 2egh=3| 108,540 114,325 N5,785
[ 86,832
Al 6.513
- 15,195
01 AtR2te|Hl 103,540 109,325 A5,785
OZ2d(E - XEAMHIA) 23]
94,476,000 94,476




S =TIART
g Ots =X &
Rl FYAS Ot 2= (EEEE))
SA - B GR(31) - HIRAY - BES il &k e HlmS2
s 75,581
Al 5,669
- 13,226
O=22 HEHI 1,000,000& 1,000
s 800
Al 60
2 140
ONRBE U HMADE 7|
1,800,000& 1,800
s 1,440
Al 108
- 252
O3lo ==& 1,000,000& 1,000
s 800
Al 60
- 140
OOt S ALAIAF W= 1,200,000& 1,200
s 960
Al 72
- 168
OSEAEE 22 2|
8,000& +3A!+x3H + 122 864
s 691
Al 52
- 121
(OFSESESINEE Gl 1,000,000& 1,000
s 800
Al 60
- 140
O2FJ|I2+8Hl 2,200,000& 2,200
s 1,760
Al 132
- 308
02 2324l 5,000 5,000 0
O33e3a ¥ 1kl S
5,000,000& 5,000
s 4,000
Al 300
- 700
203 R F=&] 1,500 1,500 0
s 1,200
Al 0
- 210
03 A Z=AIHSZXY| 1,500 1,500 0




A SXAL I
= ots =X 88

ool FHORNS Ot 25 (ol m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OCRIAEIE &#M3l 25X
1,500,000 1,500
= 1,200
Al 0
- 210
301 EtE NS 2,000 0 2,000
= 1,600
Al 120
- 280
11 dALEEIXIRE S 2,000 0 2,000
OSZAEIE T2O8 ZIIK Al
2,000,000& 2,000
= 1,600
Al 120
- 280
OlSSEAtIZCIAL 22l 6,300 4,980 1,320
= 4,8%
Al 367
- 1,037
201 2= 180 60 120
01 At2t2lt] 180 60 120
OOtsSer At 22l AHSRA) MSUHe &
It 90,0003 0
OOlSSEAHIZEIAHSRA)0FRE] XI&bl
90,0002 D
202 04| 6,120 4,920 1,200
[ 4,8%
Al 367
- 857
01 =LHNHI 6,120 4,920 1,200
OOtsSeEAtdi2el Al E2F04bI 6,120
LSS0 120,0002x3& * 122 4,320
[ 3,456
Al 259
- 605
SH2AEH I 600,000 *3& 1,800
[ 1,440
Al 108
- 252
44 25 & |4 688,789 673,339 15,450
= 51,268
Il 213,053
Al 199,700
- 224,768
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2A: SXALE
HE: HAY 25 U S5
o9l gadse (Er9: &)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
| 8,918
Al 3,822
01 Al B& X Z2(2REETA) 12,740 12,740 0
ODNELHE SEEXE3 12,740,000 12,740
| 8,918
Al 3,822
EAEHAL XA 100,536 100,536 0
= 50,268
Al 25,134
- 25,134
301 LPENSZ 100,536 100,536 0
= 50,268
Al 25,134
- 25,134
01 MBI BEAG6Z2(2DEXTHA) 100,536 100,536 0
OHgEAd Me|gs NI
100,536,000& 100,536
= 50,268
Al 25,134
- 25,134
stngt HAE XA 129,334 127,335 1,99
| 920,534
Al 19,400
- 19,400
307 212+01 A 129,334 127,335 1,99
| 90,534
Al 19,400
- 19,400
05 2I2tRES 129,334 127,335 1,99
OStDY BAETIZAI
129,334,000& 129,334
| 0,534
Al 19,400
- 19,400
Sngt Had SAXA 8,326 8,326 0
| 3,521
Al 3,045
- 1,760
307 gI2tol ™ 8,326 8,326 0
| 3,521
Al 3,045
- 1,760
05 QIZIRIErZ 8,326 8,326 0




SN =XAILD
Hu: HAd P95 U 84

ool HAEES (crey-mg)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Ostm%t 24d =46 K
7,042,000& 7,042
| 3,521
Al 1,761
- 1,760
OzAl8l A" FIOHXI&2 1,284,000& 1,284
Al 1,284
Stgt HAEAXJAME SAEK HRINAHI 3,600 3,600 0
Al 1,800
- 1,800
307 212+01 A 3,600 3,600 0
Al 1,800
- 1,800
10 Al S XA EBEER2IHIE X 3,600 3,600 0
Ostn 2 HAEXJMEH SAK HLHME
=g 100,000 *3F 122 3,600
Al 1,800
- 1,800
FaENMY 25 XA 102,000 100,102 1,898
| 51,000
Al 25,500
- 25,500
307 2I2+0l™ 102,000 100,102 1,898
| 51,000
Al 25,500
- 25,500
10 Al S XA EEHE2IHIE X 102,000 100,102 1,898
OFaxEHNY 2= T&
102,000,000& 102,000
| 51,000
Al 25,500
- 25,500
HAUESEL 29 X7 118,160 115,944 2,216
| 59,080
Al 29,540
- 29,540
307 212+01™ 118,160 115,944 2,216
J| 59,080
Al 29,540
- 29,540
10 Al =S XA EEER2IHIE X 118,160 115,944 2,216
OFaxEsEt 29 X&
118, 160,000& 118,160
J| 59,080




2A:

X XH -
o=

o9l Hades (ehol:®el)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 29,540
T 29,540
ANgag 28 X2 163,782 163,782 0
Al 81,891
- 81,891
307 gl2to| & 163,782 163,782 0
Al 81,891
- 81,891
10 Al SXA2EE 22X 163,782 163,782 0
OXgas 29 X&H 163,782,000 163,782
Al 81,891
- 81,891
FAESEHAL THRES 17,136 17,136 0
Al 8,568
- 8,568
307 el2to| & 17,136 17,136 0
Al 8,568
- 8,568
10 Al SXAZEE 22X 17,136 17,136 0
OFxESEI MHHEES
17,136,000& 17,136
Al 8,568
- 8,568
HAEAGSXHE BEHAAESE 2,488 2,958 2470
201 er23 | 2,488 2,958 A470
01 At2teltl 2,488 2,958 A470
OF2dgE=AdH HRE=
2,487 ,520& 2,488
HH2LIHI(SX AL D) 310,985 274,244 36,741
= 142,272
Al 19,567
- 149,146
oIH 2 (SXIAIE L) 245,803 207,662 38,141
[ 142,272
Al 19,567
- 83,964
CHAEBE 29XA(Q24H]) 111,708 76,800 34,908
[ 75,232
Al 5,642
- 30,834
101 @124H| 93,517 69,220 24,297
= 60,680
Al 4,551




S =TIART
M HAPAZH|(SXIAIE D)
Tl I PHHI(SXIAIZEDL) (S ® )
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
- 28,286
03 BRA(RIAH)22XHE S 93,517 27,260 66,257
OJlzs 67,371,000& 67,371
[ 53,8%6
Al 4,042
- 9,433
OAIZt ==& 8,480,000 8,480
[ 6,784
Al 509
- 1,187
OZA=AHI 5,040,000 5,040
OJEx=g 680,000 680
OE &=l 5,298,000& 5,298
Odxt=rs=+¢ 5,250,000 5,250
O3RH(OtSSEALHZRIAL) M XA
300,000 300
Odutd=s 1,098,000& 1,098
WM H=SFEE=S 18, 191 7,580 10,611
s 14,552
Al 1,091
- 2,548
4 SRE(RIAHA) 22X BEEHEREE S 18,191 7,580 10,611
QIUEE (B2N)IIBRYE, HXNED
505,280 x3E«12& 18,191
= 14,552
Al 1,091
- 2,548
OlIEEsdEReE s 88,759 86,410 2,349
= 52,255
Al 6,532
- 29,972
101 e124d| 81,314 78,486 2,828
[ 49,461
Al 6,183
- 25,670
02 JIetaE == 42,698 40,661 2,037
OJlzs 2,333, 160« 1H* 122 27,998
[ 22,398
Al 2,800
- 2,800
O4UEs JI2RE=
303,270« 1H« 123 4,720
[ 3,776
Al 472




SN SXAR D
M HAPAZH|(SXIAIE D)
CHel: QI 2| (S XA D) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 472
OAIZt2l ==& 9,500 x32AI 2t 1+ 123 3,648
OdHgAHl 140,000& x 1= 123 1,680
OXsExY|
155,000 35/40A1 2t 1+ 123 1,628
ol syl
50,0002 #35/40A12tx1H* 128 525
OS4+xR4Y
2,333, 1602 +84%+40/35 A 25 1 x 123 1,344
OJtE+¢ 40,0002 1 * 123 480
Oe1h2 At
2,333, 1602 «84%+~806%+1/30%1/7+84AI 2 675
03 SRA(RIH )22 U2+ 38,616 37,825 791
OJlzs 2,425,660« 1H« 122 29,108
= 23,287
Al 2,91
- 2,910
OAIRtel=& 13,5423 *150%+ 10A1 2+ 12 2,438
OdHgAHl 140,000& x 1+ 123 1,680
Og &=l 2,425,660 «80% 1,941
OJExE 40,0002 1 * 123 480
Odxt=a=¢ 108,334 x 18+ 162 1,734
Odtaus(3R) 1,234,330& 1 1,235
04 HSRESS 7,445 7,924 A4T9
= 2,79%
Al 349
- 4,302
M SRA(RIAHS) 22N EE2RE=s S 7,445 7,924 VAV¥(®
QIUEE(B2N)IIBRYD, HXHE2
620,342 x1H 128 7,445
s 2,794
Al 349
- 4,302
OFS=XILAL X2 (2124H]) 45,336 44,452 884
s 14,785
Al 7,393
- 23,158
101 21AH| 37,990 36,863 1,127
[ 12,364
Al 6,182
- 19,444
03 SRA(RIH )22 U2+ 37,990 36,863 1,127
OOtSEXI WAL XI&(S2H)
24,728,8802 44,262,280 28,992




S =TIART
M HAPAZH|(SXIAIE D)
CHel: QI 2| (S XA D) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 12,364
Al 6,182
- 10,446
OdHzAHl 140,000« 12& 1,680
Og&E =l 2,415,930 *40%*22] 1,933
OAIZelx=& 13,4902 150%+ 10AI 2t* 122 2,429
OdxtraE+< 13,5423 +BAI 2t 162 1,734
Odnatoi=2 1,221, 7402 <18 1,222
04 HSRESS 7,346 7,589 N243
s 2,421
Al 1,211
- 3,714
M BRA(RIHY) 22N BEE2RE=s S 7,346 7,589 N243
OIS JIB2YE L SRR
4,842,408 +2,502,912& 7,346
s 2,421
Al 1,211
- 3,714
[E2ZHI(SXAIG ) 65,182 66,582 21,400
SAI12ZH 65,182 66,582 A1,400
201 Ler23 | 14,622 15,342 AT20
01 At2t2ltl 14,160 14,880 NT20
O=RAM2gII12+EH]
24,0002 x25F + 12 9% 6,480
OJlzge-d3gtl
8,000 x4 A x25EH 123 x80% 7,680
02 s3=gHl 462 462 0
Oblef&0lE Salbl 38,5002 * 122 462
202 o4 45,100 45,360 A260
01 2LHoIH 45,100 45,360 A260
ORA2HEHNH 45,100,000 45,100
203 HR=AH] 5,460 5,880 A420
M A2 LRFAI 5,460 5,880 AN420
ORANEgg =AY
350, 0002 * 122 *90f% 3,780
ORN2IYRFAHI(EEAEHE)
175,000 x 122 «80% 1,680




